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2.11 Solving Proportions

Proportion: A statement of equality between ratios.

4 5
Ex. 4:5=12:15 or i:E or =
5 15 12 15
Ex. 1 Solve each proportion
/-1\ 25
a) 3’@‘ b) x:7 = 30:21
w2 w
=3
X =
g X = \O
C) y:3=4:10 This is not obvious. For more complex
proportions you can solve using algebra.

Sk Ve &S a fackion.
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Let's look for a pattern:

(%=4/’Z> (3)5:%

=8 8 4 1S =«
x 3
IS AR
/g\ \5<: L‘ (’X\
)& =4 (x)
24 =44
G=w
a C
Z}{\g This is called
'cross-multiplication”
a-d=b-c
d) 2:3=15:x Cross-multiplying is very useful when the
2 < variable is in the denominator.
3
Qo = ug
X = 45
2
7:x=8:15 f) 4:17=3:2k
Urf, g o %—%
s )X Is” '* 2K
10 = Ry K = 5
o3 _ —
=X K==l
8 g
+ 3 Ratios can compare more than 2 terms.
g) 5:6:7 =15:18:x h) 5:8:11 = a:b:30
TR S-_= -\
Y = 3x3 A o Ee
= Q) Work s 9 Rackons
6\4 N \\\;’\N\L ,I
Nee S N R
3677 A 3‘0%@1
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2= h =240
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Ex. 2 To make a punch you neeo@ mL of gingeral an

@pplejuicd. Haifa has a 200 mL container of apple juice. How much
gingerale should she add to make the same recipe of punch?

IBO )S() X 200 | " HaiCa needs

BHOm L oF oyl

|5.!0 —3(0000

Ex. 3 If 12 out oflS stuc'e%ts prefer chocolate ice cream over
vanilla, how many students prefer chocolate iQ a group of 200

Cx\b(.'. '\'U\'z-‘ = 2ot "U\‘&
1215 =<

Ex. 4 There are@catgréfr% dogs in a shelter. The ratio of cats to
dogs in this shelter is 3:5. How many cats and how many dogs are in

this shelter? 4%)“\ C\ o' oD
i
d=ox)>

. ::I ' i ~
B Q— aé)g)? s 375

T There ave 335 cakk and S doog.
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Ex.5 Hanna scored 18 points in her last basketball game. If she

scored 29% of the total team points, how many points did her team
score in the game? kvl
. Ly ™ bkl

39160 = 18- %

A9\ = \8
66 XK &euw L
= (300 SoHan\h S o
P 2B Lored o boved of 0
'POfr\k-

Ex. 6  The Bouraoui family bought $425,000@house with a
125,000 8own payment. They are alsobuying ar and

want to make a down or the car that is theSame proportion

as the one they made forthe house. How much should(their down
Houwqe av—

payment on the car be? c\owh CToedk = Aowr - T

(36,000 " UIS0L — K 2%,000
e \ L Ti L S
: Ya S,600 39,00V
= l ._1.,'- Y25,000 % = q%)c; VL I
T TR \S 1[‘[(|l|.7'(, l“3'?~O¢)(.J><'. ‘1‘*\[ ?GS,OOO
Ex. 7 A map measureg6 cm yom Ottawa to Kingston a distance of

The distance from Ottawa to North Bay measurn

the same map. What is the actual distance from Ottawa to North
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